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1 HBKR= 1963 S38 Fk ¥ 1 HimT 5—4 O HBX= HEmIE
2 Haek= 1963 S38 ¥ 2 25 2—1 (] * 5 BEX=
3 HBK= 1964 S39 & ¥ 1 fRAT% 6—3 @ fRETE HEBX=
4 HaeK= 1964  S39 E ¥ 1 TERIB=%E 1-0 @ THERIBEX HEX=
5 HBK= 1964 S39  Fk ¥ 1 LEIBEE 1-0 @ LEREBEE BEX=
6 HBX= 1965 S40 & ¥ 2 FTEIBEE 2—1 | O BaX= FERBEE
7 HBK= 1965 S40 & ¥ 3 mEAEZE 8—1 O HEBX= MEAEXE
8 Haek= 1965 S40 | &HF ¥ 4 %5 2—1 O HEX= * 5

9 HBK= 1965 S40 & ¥ REGEL FEE 4—-3 @ FE] HBX=
10 HBR= 1965 S40 E ¥ 2 EA 3-0 @ E2i BEX=
11 HBK= 1965 S40 F ¥ 2 (K 3—0 O HEBX= (DK

12 HBX= 1965 S40  Fk ¥ 3 fRET % 3—1 O HBA= fREA T
13 HBK= 1965 S40  Fk ¥ 4 MEAEE 7-0 @ mEAEE HEBX=
14 HBR= 1966 S41 & ¥ 1 tRERIE 7-0 @ RERIE HEX=
15 HBK= 1966 S41 E ¥ 2 FrEE 3—2 O BEXK= riE

16 HBR= 1966 S41 E = 1 AREE 6—5 @ AREE HEX=
17 HBKR= 1966 S41  Fk ¥ 2 XE 19—-0 @ X&E HEBX=
18 HBX= 1967 S42 & ¥ 2 FARE 7-0 @ FBR4 BEX=
19 HBX= 1967 S42 B ¥ 2 EWmIE 7—-6 O HBEBX= EmIE
20 HBX= 1967 S42 E = 1 KHET 2—1 (] KHT HEX=
21 HBKR= 1967 S42 F ¥ 2 XE 5—-1 @ XE HEBX=
22 HBXR= 1968 S43 & ¥ 2 Bk 2—1 O HBA= AR H

23 HEBKX= 1968 S43 & ¥ 3 MEAEXE 6—1 @ mEAEE HEBX=
24 HBXR= 1968 S43 E =} 2 AR 5—1 (] AR BEX=
25 HEBX= 1968  S43 Fk ¥ 2 BRI 1—-0 O HBKX= BRI
26 HBX= 1968  S43  Fk ¥ 3 * 5 9-6 @ E45 HEX=
27 HBK= 1969 S44 &H ¥ 2 ERE T 8—1 O HEBKX= fRE T
28 HBXR= 1969 S44 &H ¥ 3 D 2—-0 O HBAR= riE

29 HBKR= 1969 S44 &H ¥ SERB ¥ 5—2 O HBX= EA:5

30 HBXR= 1969 S44 &H ¥ REGEL XE 4—2 @ XE BEX=
31 HBK= 1969 S44 E ¥ 2 (K 4—1 @ (kS HBX=
32 HaK= 1969 | S44 ¥ 2 Dt 7—1 @) HEX= FrFE

33 HBK= 1969 S44  Fk ¥ 3 F3R4 3—-2 @ F3B4t HEBX=
34 HBRK= 1970 S45 & ¥ 2 FIES S 13—1 @ RS HBKR=
35 HBKR= 1970 S45 B ¥ 2 ik E 3—-2 @ R EH HEBX=
36 HBR= 1970 S45 ¥ 2 Ens RT3 2-0 @ B RT3 HEX=
37 HBK= 1971 S46 &H ¥ 2 =¥ 12—1 @ R¥ HEBXK=
38 HeK= 1971 | S46 B ¥ 2 Dt 4—3 @ riE BB K=
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39 BEX= 1971  S46  Fk ¥ 1 fRAT% 1-0 @ fREITE HEBX=
40 HeK= 1972  S47 | & ¥ 1 XE 4—0 @ XE BB K=
41 HBKR= 1972 S471 E ¥ 1 LEIBEE 7-3 O HEXK= LERBEE
42 Haek= 1972  S47 E =} 1 AREEE 8—1 [ ] AREE HEX=
43 HBK= 1972  S47  Fk ¥ 1 BAaIT# 10—1 @ BAITE HBX=
44 Haek= 1973 S48 & ¥ 2 Dt 8—1 O HBAR= riE
45 HBKR= 1973 S48 & ¥ 3 ik @ 11—1 @ fRH HEBX=
46 HEX= 1973 S48 B [} 2 BiREE 15—0 O HBAR= BEiREE
47 HBKR= 1973 S48 E g 3 & 6—3 O HBX= HE4
48 HBR= 1973 S48 E g 4 AREEE 8—1 (] AR E HEX=
49 HBKR= 1973 S48  Fk ¥ 1 BB T 4—0 O HEBX= BRI
50 HBX= 1973 S48 ¥ 2 25 4—0 O HBA= 3
51 HBKR= 1973 S48  F ¥ 3 R 3—-1 @ FEN] HEBX=
52 HBXR= 1974 S49 & ¥ 2 B RT3 3—1 O HBA= Eas RT3
53 HBK= 1974 S49 &H ¥ 3 RE 4—1 O HEBX= R¥
54 HBX= 1974 S49 & ¥ xR FEE] 6—1 o FENE) HBKR=
55 HBK= 1974 S49 E ¥ 2 FA4t 6—5 @ F3B4t HEBX=
56 BaEX= 1974  S49  Fk ¥ 2 EAE] 7-0 @ FENE) HBAR=
57 HBKR= 1975 S50 & ¥ 2 R A 1—-0 O HEBX= fRH
58 HBX= 1975 S50 & ¥ 3 REAEZE 9—1 O HBA= MEAEE
59 HBKR= 1975 S50 &H ¥ SERB BRI 1-0 @ BRI HEBX=
60 HBX= 1975 S50 E ¥ 1 HiE 174 3—2 O HBAR= B b7
61 HBK= 1975 S50 E 2 1 [/N ¥ 5-0 @ /N 8 BEXK=
62 HBX= 1975 S50  #k ¥ 2 THEIBEE 3—-2 @ THEBEE HBAR=
63 HBK= 1976 S51 & ¥ 1 BRI 14—1 O HEBX= EuriE T
64 HBX= 1976 S51 & ¥ 2 HEiRT % 6—2 O HEX= EmITE
65 BEX= 1976 S51 & ¥ 3 Ry 2—1 @ FEN] HEBKX=
66 HBX= 1976 S51 E ¥ 1 fRET % 8—1 O HEX= RET%
67 HBK= 1976 S51 E [} 2 INETEE 9—2 @ INEEE HEBX=
68 Haek= 1976 S51 X ¥ 1 FEE] 12—1 @ FENE) BEX=
69 HBKR= 1977 S52 & ¥ 1 BRXE 6—5 O HEBX= BRXE
70 HaeK= 1977 S52 | & ¥ 2 FAR4t 5—2 O HEX= FIIE
71 HBKR= 1977 S52 & ¥ 3 R A 5—-2 O HEBX= fRH
72 HBX= 1977 S52 & ¥ R&*: Dk 6—5 @ Ok BEX=
73 HBKR= 1977 S52 E ¥ 1 E2 8—7 @ EA:5 HEXK=
74 HBXR= 1977 S52 ¥ 2 Dt 7—4 O HBKR= FriE
75 HBKR= 1977  S52  Fk ¥ 3 FENE 11—2 O HEBX= FiENE)
76 HBX= 1977  S52 Fk ¥ K& BRXE 12—5 O HBKR= BEXE
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77 XK= 1977 S52  ®k =] 1 it 6—4 @ 2 5t HiE A=
78 RBER= 1978 S53 & ¥ 2 THRBEE 10—-0 O BEX= TEREE
79 RBK= 1978 S53 & ¥ 3 SR T % 12—1 O B A= R T
80 RBAR= 1978  S53 & ¥ RERR AAaTX 3—-2 @ AaTE BiEA=
81 RBK= 1978 S53 ®E =l 1 EHIX 2—0 O B AS EmTE
82 REBXK= 1978 S53 E =] 2 FIRt 1-0 O A= e
83 RBK= 1978 S53 ®E 2 3 AEF 2-0 O A= AER
84 HBK= 1978  S53 E ] 4 L H 7-1 @ LtH HEA=
85 RBR= 1978  S53 ¥ 1 LRMEE 9-1 O A= NEEY £
86 REBXK= 1978  S53 #k % 2 31 8—1 O A= L
87 RBK= 1978  S53 ¥ 3 AE IR 4-3 O ¥ N AATE
88 RBR= 1978 S53 B ¥ | fER Bz 11—-2 O BEA= £
89 RBEX= 1978  S53  ®k =1 1 ENTZ 5—4 @ EmTZ B AS
90 RBR= 1979 S54 & ¥ 2 WehEE 2—-1 O EEA= MEpE
91 RBK= 1979 S54 & ¥ 3 £ 34 3-0 O B A= £
92 L %P N 1979 s54 & ¥ RERR XEHE 8—1 O BEBEA= REHE
93 RBK= 1979 S54 & 2 1 EHIX 3—2 O B A EmTe
94 RBR= 1979 S54 & B AR WA E 5—2 O BEA= N E e
95 REX= 1979 S54 & B R N 3-0 @ A BEEA=
96 L3P N 1979 S54 & [} 2 EAEE 6—0 O BEA= iEREE
97 RBK= 1979 S54 & R 3 AR R 6—1 O RAX= AR
98 RBR= 1979 S54 B ] 4 RE 3—1 O A= =5
99 RBK= 1979 S54 & R 5 it T 5—1 O RER= AT
100 HEK= 1979 S54 B B ERB AL 7-0 @ VRS HEA=
101 RBK= 1979  S54  #k ¥ 2 Frid 5—2 O B AS FiE
102 RBA= 1979  S54  Fk % 3 FIRt 3—-1 O A= B4
103 RBR= 1979 S54 B ¥ HRER FE 4 T3 3—1 O HEA= AR
104 RBR= 1979 s54  # -1 1 W 8—2 O A= TS
105 RBK= 1979  S54  #% B AR iERAEE 13—1 O HiEA= tiEAEE
106 L PN 1979 s54  # B R INGEE 3-2 @ WEEE mEA=
107 BEXK= 1979 S54 ¢ duiE#E 1 =SLE— 12—1 O A= = E—
108 REA= 1979 S54 .  dbiE#k 2 %ANBET 2—-0 O REBEX= RAJET
109 RBK= 1979  S54 & JufS#E AR i 7-0 O HiBK= 2
110 L %P N 1979 S54 Fk  JbiSHE RESE &R 12—2 O BBEAZ £iR
11 RBR= 1979 S54  Ru BRAWE 2 Hori— 10—-0 O HEA=S Hori—
112 RBR= 1979  S54  Fk BRAME R FLIN R 4—3 O BEBA= DD
113 RBK= 1979  S54 X BRAME RESE 18 g 3-2 O HEA= nEpg
114 RBXK= 1980 S55 & @ EiR 1 Aax4t 5—4 O A= BE4




HEES B’ A maE ME -2y X£ (=] B B s AO7 B B F1l 452 RECB 452
115 HBK= 1980 S55 & EiR 2 BRE 4—3 @ RE HEBX=
116 HBX= 1980 S55 & ¥ 1 FERIBEE 7-0 O BaEX= FERBEE
117 HBK= 1980 S55 &H ¥ 2 HimIT 8—1 O HBX= HEmIE
118 HBR= 1980 S55 & ¥ 3 Dt 2—0 O HBAR= riE
119 HBKR= 1980 S55 & ¥ SERB fRH 3—-0 O HBX= fRH
120 HBR= 1980 S55 & ¥ REGEL FEE] 13—1 O HBA= FENE)
121 HBK= 1980 S55 &HF | dLiE#k 1 £; 14—0 @ % HEBX=
122 HBXR= 1980  S55 B g 2 EYs) 5—2 O HBA= Ed s
123 HBKR= 1980 S55 E [} 3 WARES 9—0 O HEBX= WARES
124 HBXR= 1980  S55 B g 4 EHFHR 6—1 O HBKR= P dank
125 HBKR= 1980 S55 B g 5 EMTE 1—-0 O HEBXK= EMTE
126 HBR= 1980 S55 E = HE R B +H 5—0 O HBA= +H
127 HBKR= 1980 S55 E [} REGEL WEZE 5-0 @ WEZE HBX=
128 HBX= 1981 S56 & ¥ 2 HEiRT¥E 6—0 O HBKR= HEimT
129 K= 1981  S56 & ¥ 3 FBRImES B 10—0 O HEXK= FBRImESE
130 HBX= 1981 S56 & ¥ RER kA 4—2 O HBA= Ak H
131 BBEBK= 1981  S56 & =} 1 LrHAE 4—3 O HEBX= LTHEXE
132 HBX= 1981 S56 & = R KHT 6—0 O HBKR= KHET
133 K= 1981 S56 & [} R B ER AFEE 7—-3 O HEBX= NFEFE
134 HBXR= 1981 S56 &F | JtiE#k 1 Bl ETSES 2—1 O BaX= Bl F 2T SES
135 K= 1981 S56 &F | dtiE#E  ZERRE ESIIGSES 7-3 @ EEE HBEBX=
136 HBX= 1981 S56 & g 2 AR R EE 7-0 O HEX= AR EE
137 BBEBK= 1981  S56 & [} 3 R 4—1 O HEBX= EH
138 HBX= 1981 S56 & g 4 ik 9-5 O HBKR= Ak H
139 BBK= 1981  S56 & [} 5 ZA3R 6—0 O HEBX= ZAiR
140 HBX= 1981 S56 & g 6 M 4—1 o tH HBX=
141 BBK= 1981 S56  F ¥ 2 =¥ 9—2 O HEBXK= RE
142 HBXR= 1981 S56 X ¥ 3 AT 4—0 O HBR= FAILXE
143 BBK= 1981 S56  Fk ¥ SR HimT 7—-0 O HBX= HEimILE
144 HBX= 1981 S56 & ¥ REGEL FARt 5-0 @ FAR HEX=
145 HBK= 1982 S57 &H ¥ 2 mERERE 3—-2 @ mEhiERE HEBX=
146 HBX= 1982  S57 E [} 1 &/ FH 1B 31—0 O HBAR= &/ FH1B
147 HBK= 1982  S57 B g 2 TIEAERE 9—2 O HEBX= TEAERE
148 L %P N 1982 S57 & 7 3 ARER 4—2 O RBX= MRER
149 HBKR= 1982  S57 B g 4 1EA 8—1 O HEBX= EA
150 HBX= 1982  S57 E g 5 R 3—-2 @ ¥ HBKR=
151 HBK= 1982  S57  Fk ¥ 2 XKENFE 9—-3 @ XKENF HBX=
152 HBXR= 1983 S58 & ¥ 2 Dt 2—1 [ ) Oiki BEX=
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153 HBK= 1983  S58 & g 2 EMTE 4—2 O HEBX= EMTE
154 HBX= 1983  S58 E g 3 EHE 9—-5 O HBAR= EHFSH
155 ;giz 1983 S58 E L:r 4 wzgﬁﬁﬁlrﬁ 5—-0 O iiﬁ’fgxz *%?fﬁfg%’rﬁ
156 wmA= 1983 S58 B [} 5 H 4— @ 2} A=
157 RiBK= 1983  S58  # §id 2 TR A 7-3 O RBK= e AR
158 HBR= 1983 S58 ¥ 3 BiE 174 2—1 O HBA= B k117
159 HBK= 1983 S58  Fk ¥ RER AT 4—3 @ HAITE HEBX=
160 HBXR= 1984 S59 & ¥ 2 ] &5 6—1 o fa] 5 BEX=
161 HBK= 1984 S59 B [} 1 WwAEBERFE 9-0 O HEBX= WAREBEALRTE
162 §g§5 1984 S59 E : 2 EEE%;.E 3—2 O igécz gﬁiﬁa
163 BA= 1984 S59 B [} 3 7 5-4 @ 34 BA=
164 BaEX= 1984  S59  Fk ¥ 1 TIREA RIS 9-5 @ I HIRIE HBAR=
165 HBX= 1985 S60 & ¥ 1 EWmIE 10—-0 O HEBX= ERIE
166 L PN 1985 S60 & ¥ 2 EFRBEX 4-0 O REBEA= LEMWEX
167 HEBX= 1985 S60 & ¥ 3 TiARG 6—2 O HEBX= TEREA M5
168 HBX= 1985 S60 & ¥ RER FEE] 7—-4 @ FENE) HBA=
169 HEBXK= 1985  S60 B =} 1 PRI 12—5 O HEBX= 73173
170 HBX= 1985  S60 B g 2 WEZE 2—1 O HEX= WEEE
171 HEBX= 1985  S60 B g 3 mERERE 4—3 O HBX= mEniERE
172 HBX= 1985  S60 B g 4 EM T 4—3 O HEX= EMITE
173 ;giz 1985 = S60 % ; 5 ffégc 6—5 C.> i%gg iﬁ%&z
174 A= 1985 = S60 o\ 2 =55 7—1 mA= =5
175 HEBXK= 1985 S60  Fk ¥ 3 R A 5-1 @ fRH HEBX=
176 ;,’giz 1986 S61 g ¥ 1 ﬁ&g:# 7—0 8 ;/giz ﬁﬁ;:#
177 BA= 1986 S61 ¥ 2 H 3—2 BA= H
178 HBX= 1986 S61 & ¥ 3 HiEb174 5—-1 O BHBAR= B b7
179 BaEX= 1986 S61 &H ¥ RFER tREEE 9—4 O BEXK= REERIE
180 ;,’giz 1986 S61 g E R Iﬁl&_efﬁ 5—4 8 ilﬁﬁzéxﬁ igﬁ;z
181 BA= 1986 S61 1 1 6—3 BR=

182 ;giz 1986  S61 & : AR #ﬁg:% 5—2 (.) %gii i:ﬁ%xz
183 BA= 1986 S61 = [} 2 H 4—3 BA= H
184 HBX= 1986  S61 B g 3 = 31—0 O HBKR= =
185 K= 1986 S61 & 2 4 O} 3—2 O HEBX= niE
186 ;giz 1986 S61 *Ek ; 5 #ﬁﬁfﬁ 7—0 (0) ;A'rgi iiﬁijcﬁz
187 BA= 1986 = S61 N 1 = 8—0 BR= =
188 ;giz 1986 S61 ;i ; 2 (K 7—0 8 ;giz fa] &5
189 BmR= 1986 S61 i 3 Bz 15—2 BmBA= Bi=
190 HBX= 1986 S61 X ¥ RER TiREARIG 10—-3 O HEX= TREAFIG
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191 HEXK= 1986 S61  FX ¥ R EGEL R 3—1 O HEBX= FE]
192 HBR= 1986 S61  Fk = 1 [/ A8 6—5 O HBA= me
193 BaEX= 1986 = S61 | #k = HE R B LM 10—-3 O HEXK= A
194 HBXR= 1986 S61  FX [} REGEL Ve 8—2 O HBAR= &/ H*
195 BBK= 1986 S61 ¢ | JriE#k 2 EEEE 13—6 @ SEEE HEXK=
196 HBXR= 1987 S62 & ¥ 2 BiEb174 9—7 O HBA= B b1
197 HBKR= 1987  S62 & ¥ 3 ] 5 9—2 O HEBX= (DK
198 HBXR= 1987 S62 & ¥ RER kA 13—3 O HBKR= Ak H
199 HBK= 1987 S62 &H ¥ R ER R 8—0 @ FEN] HEBKX=
200 HBX= 1987 S62 & =} 1 EMITE 5—2 @ EMITE HBA=
201 HBK= 1987 S62 E [} 2 THRBEXE 5—3 O HEXK= TERBEZE
202 HBX= 1987  S62 E g 3 BER 20—2 O HBKR= ER
203 HEBKX= 1987 S62 E 2 4 WE=E 7—-0 O HEXK= wWEEE
204 HBX= 1987  S62 E g 5 EHIX 5-3 @ EHIX HBKA=
205 HEBX= 1987  S62  Fk ¥ 1 FRImES B 11—4 O HEXK= FBImES B
206 HBX= 1987  S62  Fk ¥ 2 THRBEE 14—3 O BaX= THERBEE
207 HEBXK= 1987 S62 F ¥ 3 TiREA M5 6—2 @ TEREA M5 HEXK=
208 HBX= 1988  S63 & ¥ 1 REAEZE 6—1 O HBAR= B
209 HEBKX= 1988 S63 & ¥ 2 mERERE 8—3 O HEBX= mEniERE
210 HBX= 1988 S63 & ¥ 3 HEiRT % 8—0 O HBA= HEimT %
211 HBK= 1988 S63 &H ¥ RER A RE 4—2 O BEXK= Rk HEE
212 HBX= 1988  S63 & ¥ REGEL R 3 6—3 O HEX= MAaITE
213 HBX= 1988 S63 & =} 1 BER 5—2 @ ER HBX=
214 HBX= 1988  S63 B g 2 NFEE 14—3 O HBKR= AFEXE
215 HEBXK= 1988  S63 & 2 3 B[4 11—-5 O HEBX= friLde
216 HBX= 1988  S63 B g 4 FARL 13—8 @ FI4t BEX=
217 HEBX= 1988 S63 ¥ 1 fREITZ 11—-3 O BEXK= REIZE
218 HBR= 1988  S63  Fk ¥ 2 THRBEE 6—2 @ THEBEE HBKR=
219 HEX= 1989  H1 = ¥ 1 TiREA M5 6—2 O HEBXK= TEREA M5
220 Haek= 1989 | H1 & ¥ 2 A 5—1 [ ] fRH Haek=
221 HBKR= 1989  H1 g 2 1 WMAEE 9—4 @ WERREE HEXK=
222 HaeK= 1989 | Hi e g 2 R 9—-0 O HEX= FAaIL%
223 HaEX= 1989  H1 ol ¥ 3 Dt 8—1 ©) HEXK= riE
224 Haek= 1989  H1 Ml ¥ RER fRE T 10—2 O HEX= fRET ¥
225 HEXK= 1989  H1 Fl ¥ REGEL R 8—7 @ FE] HEBX=
226 HaeK= 1989  H1 e 2 1 ¥ 3—-2 O HEX= EF
227 K= 1989  Hf1 Ml [} SERB AFEE 5-0 O HEXK= NFEZE
228 Haek= 1989 | Hi U = R B FEE] 3—2 (@) HEX= FENE:)
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229 RBA= 1989 H1 | #  JbiEHK 2 BHEE 4-3 @ BHEE EA=
230 REX= 1990 H2 & % 2 s 6—1 O BEA = ik~
231 REBEK= 1990 H2 & % 3 [ 8—5 O BHiEA= [
232 RBEK= 1990 H2 & F KRR BRI 3—1 O RBEX= BRI
233 HBX= 1990 H2 & ¥ R A 5—4 O RBX= fE &
234 REBEX= 1990 H2 & =} 1 B 5—-0 O RBA= B
235 HiBEK= 1990 H2 & B ERE EMIT 10—-3 @ EMIE HiEA=
236 RAR= 1990 H2 & AfE& 1 &; 4—2 O BEK= &;
237 RBR= 1990 H2 & S8 2 = [ 7 5 8—6 O RBA= AR EE S
238 RBR= 1990 H2 &F duE8 HERE AFEE 9—2 @ HFEE HEA=
239 RAEKR= 1990 H2 & 2 2 AL 17—=4 O A= FARIL
240 RBR= 1990 H2 B & 3 Nl 13—3 O A N
241 RBK= 1990 H2 & 2 4 EA 6—4 O B A ER
242 RBA= 1990 H2 & 2 5 +LHR 7-2 O RBR= LAR
243 RiBEKR= 1990 H2 B B ERE EMIZE 4—2 @ EmIzE HiEA=
244 HBA= 1990 H2  ®k % 1 HiRT 2 12—7 O B A = Pin T
245 RBR= 1990 H2 R ¥ 2 ] 5 10—-1 O HEAS ] 5
246 RBA= 1990 H2  Fk % 3 FIHRIt 7-0 O A= E3aE
247 HiBEK= 1990 H2 ¥ RS ERH 11—-3 O RiBEK= ) |
248 RBR= 1990 H2 T REEE AATE 11—-2 O BEK= FERES
249 REX= 1990 H2  ®k =2 1 B 11—-0 O RBEX= B
250 L PN 1990 H2  ®k B ERE EMIE 10—-3 @ EMIE HEA=
25 RABRZ 991 H3 & P 2 BEE  6-0 O FEAZS Mah A
252 RBA= 1991  H3 & ¥ 3 EamE 10—-3 O RBA= FAE=Nz]
253 E¥ N 1991 H3 & T ERE £ H 7-3 O E ¥ N £ H
254 RBEK= 1991 H3 & ¥ REE [FAEA S 5—3 O REK= FAaTE
255 HBK= 1991 H3 & s 1 LtHEAR 2—1 O RBK= ;XN
256 HEK= 1991 H3 & B ERB nEZE 8—6 @ NS ESE HEA=
257 HEK= 1991 H3 E = 2 HRm 12—5 O A= R
258 RBR= 1991 H3 & ! 3 TR 8—1 O BEA= THRAEE
259 RBKR= 1991 H3 & 2 4 2R 14—2 O RAEA= 2R
260 HBA= 1991 H3 & ] 5 N = g—2 @ NG Bk
261 RBK= 1991 H3 R ¥ 1 5 10—-3 O B A= Tz
262 RBR= 1991 H3 & F 2 EWHELE | 9-2 O HfEAS ERSHESE
263 RBR= 1991 H3 R ¥ 3 & E 14—6 O RER= GG
264 RBA= 1991 H3  ® ¥ ERE FIEIEES 9—2 O BBA= STHIEE 3
265 RER= 1991 H3 | ®k T OREE IR 6—3 @ I EIRIE EA=
266 RBR= 1991 H3 | & & 1 EX 14-2 @ EA A
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267 HBK= 1992  H4 = ¥ 2 FEE 11—-9 @ ] HBX=
268 Haek= 1992 | H4 B =4 1 ARE LLFK 9—2 O HEX= A LFE
269 HEXK= 1992 H4 I} 2 2 ARE 7—2 O HEXK= BIRE
270 Haek= 1992  H4 = g 3 hEFESE 15—10 O HBXR= hEpEEZE
271 HBK= 1992 H4 ] g 4 AFEE 10—1 @ NFEE HEBX=
272 Haek= 1992 H4 ik ¥ 1 [ZIE3) 22—8 O HEX= g
273 HBK= 1992 H4  #k ¥ 2 HEmI ¥ 16—1 O HEBX= HEimIE
274 HBX= 1992  H4  Fk ¥ 3 tRERIE 5—-0 O HBA= R HE 1S
275 HBKR= 1992 H4  #k ¥ SERB mERERE 6—2 O HEBX= mEhiERE
276 REX= 1992 H4  F ¥ REGEL =¥ 2—1 @ =¥ HBKR=
277 BEgX= 1992 H4  Fk [} 1 EHIXE 5—-4 @ EHIE HBK=
278 Haek= 1993  H5 = ¥ 2 ] 5 9—1 O HBA= fa] &5
279 HEXK= 1993  H5 & ¥ 3 FARAL 6—5 O HEXK= F3B4t
280 HBX= 1993  H5 = ¥ HE R P BiE 174 5—4 @ mEhARE BEX=
281 HBK= 1993 H5 = ¥ =R =¥ 5—4 O HEXK= RE
282 HBX= 1993 H5 = = 1 RFHX 10—2 O HBA= EFAX
283 HBKR= 1993 = H5 = g 2 1EA 6—1 [ ) EA HEBX=
284 HBX= 1993 H5 = 2 1 INEE 11—1 O HBA= INEE
285 HBK= 1993 H5 = [} 2 =E-S 9—0 O HBX= g
286 HBX= 1993  H5 = g 3 et ol 8—2 O HBR= esade]
287 HBK= 1993  H5 I [} 4 MAIE 4—2 @ WMARTIE BEXK=
288 HBX= 1993  H5  Fk ¥ 1 mEA—FE 39—-0 O HBA= Fi{E
289 BEXK= 1993  H5 ke ¥ 2 fRETZ 15—10 O BEXK= REIZE
290 HBX= 1993  H5 Ml ¥ 3 B RT3 5—0 O HBA= BB T3
291 HBK= 1993  H5 ol ¥ HE R B mEAEZE 10—3 O HEBX= MEAEE
292 HBX= 1993 | H5 U ¥ R B ER kA 10—1 | O HEX= fRH
293 HBK= 1993  H5 Al =} 1 hEFEE 7—-0 O HBXK= hEFEE
294 Hak= 1993 = H5 Ml g2 2 +H 4—0 O HEX= A
295 HEXK= 1993  H5 Fl = HE R B EFBX 5—4 O HEXK= RFEHX
296 REX= 1993 H5 =] RBGEL INEEAE 3—-2 @ WEZE HBKR=
297 HBKR= 1993  H5 B deE#E 1 REJIET 3—-0 O HEXK= RAllEmT
298 Haek= 1993  H5 o dbfE# 2 HESRL 2—1 O HBR= HERL
299 HBK= 1993 = H5 O deEE EERE £iR 2—1 [ ) £iR HEBX=
300 HaeK= 1994  H6 = ¥ 2 FARE 12—2 O HBXR= F3B4t
301 HBKR= 1994 H6 & ¥ 3 | 12—7 O HEBX= w
302 HBX= 1994 H6 = ¥ SERB EnsiR T3 8—1 O BaX= EnsriR T3
303 HBKR= 1994  H6 = ¥ R EL £k FH R 5 12—1 O HEBX= Ak A 5
304 HBX= 1994 H6 = = 1 AR 5—2 O HBAR= AR
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305 HBK= 1994 H6 = [} 2 AFEE 2—0 O HEBX= AFEE
306 Haek= 1994 H6 = =} HE R B EMIZE 7—2 O HEX= EMITE
307 HBK= 1994  H6 = =} R EGEL 1EA 11-3 @ EA HBX=
308 HaeK= 1994  H6 & JtiE# 1 IS 7—4 O HBAR= BlE
309 HBK= 1994  H6 E JtiE#E 2 HERL 5—-3 @ HERLL HEBX=
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611 BBK= 2014 H26 B [} 3 THRBEXE 16—1 O HEBXK= TERBEE
612 Haek= 2014 H26 E g 4 INEERE 9—5 O HEX= INEEREE
613 HEX= 2014 H26 B =} 5 LA 8—1 O HBX= ia::Fii]
614 Hak= 2014 H26 & =} RS EHEE 8—7 @ EHEE HEX=
615 BaEX= 2014  H26 X ¥ 1 LEIBEE 4—0 O HBX= LERBEXE
616 Haek= 2014 H26  Fk ¥ 2 BB T2 7—-6 O HBA= B RT3
617 RigK= 2014 H26 @ Fk ¥ 3 B A &g 3—-2 @ B A HEX=
618 HBX= 2014 H26  Fk ¥ RER HimtlE 7—-0 O HBA= HimEls
619 RiBgK= 2014 H26  Fk 2 1 L o] 8—0 O BEXK= R
620 HBX= 2014 H26  Fk g 2 WEFE 2-0 @ wWEEE HEXK=
621 BHEX= 2015  H27 & ¥ 1 Dt 4—0 O HEBXK= O
622 HBX= 2015  H27 & ¥ 2 FEE] 8—1 o FEaN ] HEBX=
623 K= 2015 H27 B =} 2 AEFIE 7—0 O HBXK= EF5IE
624 HBX= 2015  H27 E g 3 THZEAR 5—2 @ rTHRZEAR HEBX=
625 K= 2015 @ H27 ¥ 1 NI 5—-1 O HEBXK= NI
626 HBX= 2015 H27 ¥ 2 mEA—EE 4—2 O HEX= M=
627 HigK= 2015 H27  ®k ¥ 3 I E R 2-0 O HiEA= W& I
628 HBX= 2015 H27 U ¥ HE R P PR 7—4 o FEAYE] HEXK=
629 BHaEX= 2015 H27 ¥ =hR BT E 3—2 O HEXK= iR
630 BEA= 2015 H27 ® = 1 ARE 12—1 O HBK= ARE
631 BHEX= 2015 H27 F =} 2 +HTE 6—4 @ L+ HEAE HBX=
632 ¥ 2016  H28 & ¥ 2 R HOIDEE HE 6—8 O ¥ R HOIDEEHE
633 ¥ HiH] 2016  H28 & ¥ 3 £ FH B i 3—1 O ¥ HiH] Ak FH A 5
634 E¥HiH] 2016 H28 & ¥ HER BiE 174 13—4 @ mEniERE ¥ HiH]
635 ¥ HiH] 2016  H28 & ¥ =R AT 0—9 O ¥ HiH] BAITE
636 ¥ H i) 2016 H28 | & = 1 EAREE 6—10 @ EAEEE EbH ]
637 ¥ HiH] 2016 H28 & [} 2 B 10—-3 O HiEEh B
638 ¥ H i) 2016 H28 E = 3 EREFEE 1—8 O HimilEh EREFEE
639 ¥ HiH] 2016 H28 & [} 4 EARE 9—2 @ EARE ¥ HiH]
640 E¥=HH] 2016 H28 ¥ 2 EXR 3—4 O E¥HH] EXR
641 ¥ HiH] 2016 H28  ® ¥ 3 NI 8—5 O ¥ HiH] w
642 HimilEh 2016  H28 U ¥ R TERIR=%E 1—16 | O BB THERIREXE
643 ¥ HiH] 2016 H28 @ Fk ¥ R FEE] 3—10 O ¥ HiH] FiENE)
644 BB 2016 H28 [} 2 WARESHE 6—13 O E¥HH] WRETHE
645 ¥ HiH] 2016 = H28 [} 3 ] 5-6 @ fRLL ¥ HiH]




